CHANGE ORDER

OWNER: CHANGE ORDER NO. 3(Summary)

City of Diamondhead

5000 Diamondhead Circle

Diamondhead, MS 39525

ENGINEER: Covington Civil &

DATE: February 27, 2025

Environmental

CONTRACTOR:

LJ Construction, Inc 11226 Dobson Rd

Gulfport, MS 39503

PROJECT: Turnberry Drainage Project

SUMMARY:

This change order serves to decrease the contract amount and contract time.

Installed quantities in the field differ from the original estimated quantities in the contract. A detailed summary of the quantity adjustments is included with this Change Order. The net change to the Contract amount with these adjustments is a decrease in the total contract amount by \$106,233.60

The project was substantially complete January 15, 2025 reducing the contract time by 11 days.

THE CONTRACT IS AMENDED AS SHOWN BELOW:

(Not valid until execute	d by the Owner, Engineer, ar	nd Contractor)	
The original Contract Su	m:		\$617,551.40
	y authorized Change Orders:		\$54,997.90
The Contract Sum prior		\$672,549.30	
The Contract Sum will n		(\$106,233.60)	
The New Contract Sum	ill be:	\$566,315.70	
The original Contract Time Net Change by previously The Date of Substantial The Contract Time will the New Date of Substantial	ge Order:	12/25/2024 32 1/26/2025 -11 1/15/2025	
CONTRACTOR:	ENGINEER:	OWNER:	
By: Just Barlas	Date: 2/27/20	By: Date:	



February 27, 2025

Mr. Jon McCraw City Manager City of Diamondhead 5000 Diamondhead Circle Diamondhead, MS 39525

Re: Change Order #3 (Summary) Recommendation – Turnberry Drainage Project

Dear Mr. McCraw:

For consideration by the Council, I have enclosed Change Order #3 (Summary Change Order) for this project. This Change Order serves to remedy the actual project quantities needed to complete the project. As shown, this Change Order decreases the total contract amount by \$106,233.60. Additionally, the contract time is reduced by 11 days as the project was substantially complete January 15, 2025, and the original contract ended January 26, 2025.

With that said, I recommend that the Council approve this Change Order #3. Should you have any questions, please do not hesitate to contact me at 228-396-0486 or sarah@ccellc.us.

Sincerely,

COVINGTON CIVIL & ENVIRONMENTAL, LLC

Sarah McLellan, P.E. *Project Engineer*

Fax: (228) 396-0487

G MC/ G MC/ PROFESSION PROFESSI

2/27/2025

Phone: (228) 396-0486

TURNBERRY DRAINAGE PROJECT CITY OF DIAMONDHEAD CHANGE ORDER #3 (SUMMARY) SUMMARY OF AMENDED QUANTITIES AND TOTALS

						RIGH			NDED TITIES	_	RACT IONS	
PAY ITEM NO.	PAY ITEM	UNIT	U	NIT PRICE	CONTRACT QUANTITY	1	EXTENSION	NCREASE	DECREASE	NEW QUANTITY	NEW EXTENSION	DELTA
02050-1	Removal of Asphalt Pavement, All Depths	SY	\$	8.00	1,200	\$	9,600.00	52		1,252	\$ 10,016.00	\$ 416.00
02221-1	Select Fill	CY	\$	17.00	1,400	\$	23,800.00		(1346.0)	54	\$ 918.00	\$ (22,882.00)
02226-1	Borrow Excavation (LVM)	сү	\$	17.00	1,600	\$	27,200.00		(1025.0)	575	\$ 9,775.00	\$ (17,425.00)
02226-2	Excess Excavation (LVM)	СУ	\$	12.00	750	\$	9,000,00		(16)	734	\$ 8,808.00	\$ (192.00)
02234-2	MDOT Type IV Geotextile Fabric	SY	\$	3.00	1,250	\$	3,750.00	2		1,252	\$ 3,756.00	\$ 6.00
02295-1	Silt Fence	LF	\$	4.50	1,400	\$	6,300.00		(1400)	0	\$ -	\$ (6,300.00)
02295-2	Wattles	LF	\$	4.50	750	\$	3,375.00		(750)	0	\$ _	\$ (3,375.00)
02721-1	Reinforced Cast-in-Place Concrete Structures	ζ	\$	1,650.00	69	\$	113,850.00		(3.15)	65.85	\$ 108,652.50	\$ (5,197.50)
02721-2	Castings/Gratings	LBS	\$	4.00	2,600	\$	10,400.00		(416)	2,184	\$ 8,735.00	\$ (1,664.00)
02722-1	48" Reinforced Concrete Pipe, Class III	LF	\$	180.71	640	\$	115,654.40		(60)	580	\$ 104,811.80	\$ (10,842.60)
02722-2	42" Reinforced Concrete Pipe, Class III	LF	\$	151.00	8	\$	1,208.00	16		24	\$ 3,624.00	\$ 2,416.00
02752-1	Loose Riprap, on Geotextile Fabric	SY	\$	100.00	85	\$	8,500.00		(24.56)	60.44	\$ 6,044.00	\$ (2,456.00)
02931-1	Hydroseeding	SY	\$	2.00	4,840	\$	9,680.00		(3240.0)	1,600	\$ 3,200.00	\$ (6,480.00)
02931-2	6" Topsoil	SY	\$	20.00	1,000	\$	20,000.00		(700.0)	300	\$ 6,000.00	\$ (14,000.00)
02931-3	Sodding	SY	\$	12.00	1,000	\$	12,000.00		(422.0)	578	\$ 6,936.00	\$ (5,064.00)
35310-1	Pond Dredging and Disposal, 10.5 Elevation	СҮ	\$	25,00	3,400	\$	85,000.00		(400.0)	3,000	\$ 75,000.00	\$ (10,000.00)

W-1	Watermain Adjustment	EA	\$ 6,150.00	2	\$ 12,300.00	1		3	\$ 18,450.00	\$ 6,150.00
W-2	Water Service Adjustment	EA	\$ 1,800.00	2	\$ 3,600.00		(2.0)	0	\$ -	\$ (3,600.00)
S-1	6" Sewer Service Adjustment	EA	\$ 5,680.00	5	\$ 28,400.00		(1.0)	4	\$ 22,720.00	\$ (5,680.00)
S-2	8" Sewer Service Adjustment	EΑ	\$ 6,000.00	1	\$ 6,000.00		(1.0)	0	\$ -	\$ (6,000.00)
S-3	Sewer Main Adjustment	EA	\$ 6,100.00	1	\$ 6,100.00	1		2	\$ 12,200.00	\$ 6,100.00
S-4	Removal and Relocation of Sewer Cleanout	EA	\$ 2,000.00	1	\$ 2,000.00		(1.0)	0	\$ -	\$ (2,000.00)
S-5	Manhole Tie in for Sewer Service	EA	\$ 2,000.00	1	\$ 2,000.00		(1.0)	0	\$ <u>-</u>	\$ (2,000.00)
02512-1	1.5" 9.50 mm, ST Asphalt pavement	SY	\$ 19.75	1,145	\$ 22,613.75	107		1,252.00	\$ 24,727.00	\$ 2,113.25
02512-2	1.5" 12.50 mm, ST Asphalt pavement	SY	\$ 19.75	1,145	\$ 22,613.75	107		1,252.00	\$ 24,727.00	\$ 2,113.25
02512-3	Traffic Markings	LF	\$ 30.00	13	\$ 390.00	···········	(13.0)	0.00	\$ 	\$ (390.00)

TOTAL CONTRACT CHANGE (INCREASE) \$ (106,233.60)



February 27, 2025

Mr. Jon McCraw City Manager City of Diamondhead 5000 Diamondhead Circle Diamondhead, MS 39525

Re:

Pay Application #6 FINAL Turnberry Drainage Project LJ Construction, Inc.

Dear Mr. McCraw:

Enclosed, please find Pay Application #6 FINAL to be considered for approval by the City Council at the next meeting. The project was issued Substantially Complete 1/15/2025. This pay application pays the remaining of the line item for Mobilization and the project Retainage.

I have reviewed this pay application and find that it is an accurate request according to the amount of work that has been completed since the project began. With that said, I recommend that the Council approve payment to LJ Construction, Inc., in the amount of \$28,148.60. Please do not hesitate to contact me should you have any questions.

Sincerely,

COVINGTON CIVIL & ENVIRONMENTAL, LLC

Sarah McLellan, P.E.

Project Engineer

Fax: (228) 396-0487

Enclosures: LJ Pay Application #6 FINAL Signed

Phone: (228) 396-0486

Contractor's Application for Payment

Owner:	City of Diamondhead	Owner's	Project No.:	
Engineer:	Covington Civil & Environmental I	LC Enginee	r's Project No.:	16175 FP WA 5
Contractor:	LI Construction Inc.	Contrac	tor's Project No.:	
Project:	Turnberry Drainage Project			
Contract:				
Application N	o.: 6 Final	Application Date:	2/27/2025	35
Application Pe	eriod: From 1/3	1/2025 to	2/27/2025	-
1 0-	ginal Contract Price		-	617,551.40
	ginal Contract Price t change by Change Orders		\$	(51,235.70)
	rent Contract Price (Line 1 + Line 2)		\$	566,315.70
	The second secon		3 1	300,313.70
	al Work completed and materials st		-	566,315.70
	m of Column G Lump Sum Total and	Column J Unit Price Total)	\$	360,313.70
	rainage	70 Wash Cassalated	ć	
		.70 Work Completed	\$	
92	o. X \$	- Stored Materials	\$	
	c. Total Retainage (Line 5.a + Line 5		\$	
	ount eligible to date (Line 4 - Line 5	AND THE RESERVE OF THE PROPERTY OF THE PROPERT	\$	566,315.70
7. Les	s previous payments (Line 6 from p	rior application)	\$	538,167.10
8. Am	ount due this application		\$ \$ \$ \$	28,148.60
9. Bal	ance to finish, including retainage (I	line 3 - Line 4)	\$	
to dischar (2) Title to Payment, covered b	evious progress payments received fron rge Contractor's legitimate obligations is o all Work, materials and equipment in , will pass to Owner at time of payment by a bond acceptable to Owner Indemn e Work covered by this Application for R	ncurred in connection with the corporated in said Work, or othe free and clear of all liens, securi ifying Owner against any such lie	Work covered by prior App erwise listed in or covered ity interests, and encumbra ens, security interest, or er	blications for Payment; by this Application for ances (except such as are ncumbrances); and
Contractor: Signature:	LJ Construction Inc	merc	Date:	2 27 25
	ed by Engineer Sarah McLellan, F	Approved by	Owner	
	Project Engineer	Title:		
Date: 2	/27/2025	Date:	~	
tay papar				
	Funding Agency	0220000		
Ву:	And the second s	By:		
Title:		Title:		
Date:		Date:		
	-			

Progress	Estimate ·	- Unit Pr	ice Work

Contractor's Application for Payment

ľ				OH IN LAYINGUL
ı	Duner:	City of Diamondhead	Dwner's Project No.;	
1	Engineer:	Covington Civil & Environmental LLC	Engineer's Project No.:	
	Contractor:	L'Construction inc.		16175 FP WA 5
- 1	Project:	Tumberry Draksage Project	Contractor's Project No.:	
	Contract:			

Application	No.: 6 Final	Application Period:	From	01/31/25	to	02/27/25	-					Annih	ation Date	02/27/25
A 1	n senior de la companya de la compa	2 9 e		Y. July Ogli	Maria de Maria	ilic Bailet	i alici e raxetii	H - Sanni H . Shiri	N. S. Hall Processing		Making Sugar			ASSESSMENT PROPERTY
				Contrac	information	a Kara Basa		Correct Pay App	. Mod Com	elected (d) Section()	a up sing a	THE REPORT OF	7	Alizer right result.
									oralis de la la la			Work Completed	***	
127	建筑的			5.9			Colombia Constitution	Value of Work	Extracted Courses	Value of Mark		and Manufacture	Value of	l'
1 (a)			11				lacorpurated in the	Completed	Connector	Completed to Date		and Marie M. Secol to Date	900	Believe to Finish
*************************************		7.8	Ann Craffin	Codts	Unit Prior (5)	(CXE) (S)	App 1	Current Pay App II		Trans.	Stored (not in 6)	0+40	1 0/0	-0
PIAT I			4 4 4				ad Contract	XSIS)	" the Mark	1 (40)	15)	4 Mr. (5)	(14)	
01505-1	Mobilization		1	ıs	\$ 44,842.00	44,842.00	0.32	14,349,44	1.00		944 Bije (1988)		1000000 110	Ratificación y des
02050-1	Removel of Asphalt Pavement, All Depths		1,252	SY	\$ 8.00	10,016.00			1,252,00		 	44,842.00	1009	
-	Removal of 12" Top of Buildread		240	LF	\$ 15.00	3,600,00			240.00	3,600.00		10,016.00		<u> </u>
	Sawcut Asphalt, All Dapths		80	UF.	\$ 7.00	560.00			80.00	560.00	<u> </u>	3,600.00		
02050-4	Removal of Wooden Bridge		1	LS	\$ 2,500.00	2,500.00	-		1.00	2,500,00	 	\$60.00 2,500.00		
02050-5	Removal of Gravel Pavement, All thicknesses		24	SY	\$ 10.00	240.00			24.00	240.00		2,90,00	100%	-
+	Clearing and Grubbing		1.80	LS	\$ 5,000.00	9,000.00			1.80	9,000.00		9,000,00	100%	
	Select Fill		54	CY	\$ 17.00	918.00		-	\$4.00	918.00		918.00	100%	- -
	Borrow Excavation, LVM Excess Excavation, LVM		575 734	CY CY	\$ 17.00 \$ 12.00	9,775.00			575.00	9,775.00		9,775.00	100%	
	Disch Excavation and Grading		/34	LF	\$ 12.00	8,808.00 800.00			734.00	8,806.00		8,808,00	100%	
	Sire \$10 Crushed Spone Base		215	CY	\$ 125.00	26,875.00			40.00 215.00	800.00 26,875,00		#00.00	100%	<u> </u>
02234-2	MDDT Type IV Geotestile Febric		1,252	SY	\$ 3.00	3,756.00			1,252.00	3,756.00		26,875.00	100%	
02295-1	Silt Fence			LF	\$ 4.50					3,7,22,30		3,756.00	100%	
													OK	
02295-2	Wattles		•	UF	\$ 4.50	-	-	-	- 1	-		-	0%	
02311-1	5" HOPE Pipe - Directional Bore	-	100	LF	\$ 52.32	5,232.00			100.00	F 333 00				
									100.00	5,232.00		5,232,00	100%	-
02721-1	Reinforced Cast-in-Place Concrete Structures	<u> </u>	65.25	CY	\$ 1,650.00	108,652.50		- [65.85	106,652.50	1	108,652.50	100%	
02721-2	Castings/Gratings		2.184	LBS	\$ 4.00	8,736,00		-	2.184.00					
			1700		<u> </u>				2,184,00	8,736.00		8,736.00	100%	-
02722-1	48° Reinforced Concrete Pipe, Class III		580	U	\$ 180.71	104,811.80	ľ	•	580.00	104,811.80	i	104,611.80	100%	
02722-2	42° Reinforced Concrete Pipe, Class III	T T	24	i.e	\$ 151.00	3,624,00			24.00	3,624.00			-	
UZ722-2	42 Newsorces Construct (194, Class III								24.00	3,044.00		3,624.00	100%	
02722-3	42" Reinforced Concrete Flared End Section		1	EA	\$ 3,565.00	3,565.00		-	1.00	3,565.00		3,565.00	100%	-
02752-1	Loose Riprap, on Goosentile Fabric		50.44	SY	\$ 100.00	6,044,00			60.44	6,044,00	<u> </u>			
	Hydroseeding		1,600		\$ 2.00	3,200.00						6,044,00	100%	
	6° Topsari		300		5 20.00	6,000.00			1,600.00	5,700.00		3,200.00	100%	-
	Sodding		578		\$ 12.00	6,936.00		-	578.00	6,936,00		6,000.00	200%	
\rightarrow	Maintenance of Traffic		1	ĽS	\$ 7,500.00	7,500.00			1.00	7,500.00		6,936,00 7,500,00	100%	
	Pond Dradging and Disposal, 19.5 Elevenion		3,000		\$ 25.00	75,000.00			3,000.00	75,000.00		75,000.00	100%	
	Watermain Adjustment		3		\$ 6,150.00	18,450.00		-	3.00	18,450.00	f	18,450.00	100%	
	Weter Service Adjustment 6° Sewer Service Adjustment				\$ 1,800.00							-	0%	
	8" Sewer Service Adjustment		- 4	EA EA	\$ 5,680.00 \$ 5,000.00	22,720.00		- _	4.00	22,720.00		22,726.00	100%	
	Sever Main Adjustment		- 3	EA EA	5 6,100.00	12,200,00			2.00				0%	
	Removal and Relocation of Sewer Cleanout		-		\$ 2,000.00				- 4.00	12,200.00		12,200.00	100%	
	Manhole Tie in for Sewer Service			EA	\$ 2,000.00				<u>-</u>				0%	
	1.5" 9.50 mm, ST Asphalt pavement		1,252		\$ 19.75	24,727.00		-	1,252.00	24,727.00		24,727.00	100%	$\overline{}$
	1.5" 12.5mm, ST Asphalt Pavement		1,252		\$ 19.75	24,727.00		•	1,252,00	24,727.00		24,737.00	100%	
	Truffic Markings				\$ 30,00			-		-			0%	
	24" Reinforced Concrete Pipe Cines III 24" Reinforced Concrete Flair End Section			LF EA	\$ 95.05 \$ 1.650.00	760.40 1,650.00			8.00	760.40		760.40	100%	
	Removal of Pipe (sill types and sizes)		8	UF UF	\$ 1,650,00 \$ 11,25	90.00			1.00 8.00	1,650.00		1,650.00	100%	-
	7.1					20.00			8.00	90.00		90.00	190%	
		Original C	ontract Totals & C	hange Order 1,	2 & 3 (Summery)	\$ 566,315.70		\$ 14,349.44	 +	\$ 566,315.70		566.315.70	100%	
									· · · · · · · · · · · · · · · · · · ·			300,313,70	шин	<u></u>

	y of Diamondhead						<u> </u>				Owner's Project No.:	
neer; Co	vington Civil & Environmental	ric					- · · · ·			_	Engineer's Project No.:	
	Construction Inc.										Contractor's Project No.:	16175 FP W/
eatr Tu	mberry Drainage Project										CONTRACTOR S PROJECT (NO.:	
pret:	·											
Acation Ro.:	6.Final	Application Period:	From	01/31/25	to	02/27/25				-	Application Date:	020700
A A L		1. A. A.	设施 (1) 电	D	in the table	a Branch	A A A A A A A A A A A A A A A A A A A	and the Auditor	September 1998	POTOS INCOMES TO A MAN	In this in the same of the sam	02/27/25
		* ***		Contrac	t intermetton	100	Mill Completed - Carren	t Per Ass Mark	Conspicted to Date			4 1
100				BH**	*** ·	49			21.	Ä.		
			4					of thet Especia	Value of Work		Work Completed Staff	
96.3		200			Rathage .			chited - Courte	Constituted to the	e Materials Current	THE COUNTY AND SERVICES AND AND SERVICES AND	22223836 3857
N. da	14960	State of the second	aliana, partu	L. Janiferi	V Unit Price	(CXE)	Work - Current Pay Current		om er tekn	Stored (not in G		Salance to Sala
	A Department	148	ton Donkly .	Units	(5)		Tarak Ago	G)(S) the Wood	(s) (6)	(5)	(a) (b)	(5)
Charles Control	des and Olemania 175 Standard	, r. ·	T-101 - 103 - 1	5 1 July 2 July 1			Allement .		5 14 K 18 18 18 18 18 18 18 18 18 18 18 18 18	la, la la caracial	- And Children Smith Control of the	Talah Ali
310-1 Pond Crede	ing and Disposal , 7.5 Elevation			CY	\$ 25.00		-				- 0%	**************************************
				Additive	Alternate 2 Totals	13 .		<u>-</u>	\$	\$	\$ 0%	\$



Consent Of Surety to Final Payment

PRO JECT: (Name of 11)	A P. O. LUCIO	Bond # 100433048
PROJECT: (Name and address) Turnberry Drainage Project	ARCHITECT'S PROJECT NUMBER:	OWNER:
grange	CONTRACT FOR: Construction	ARCHITECT:
TO OWNER: (Name and address)	CONTRACT DATED:	CONTRACTOR:
City of Diamondhead 5000 Diamondhead Circle		SURETY:
Diamondhead, MS 39525		OTHER:
In accordance with the provisions of the (Insert name and address of Surety) Merchants National Bonding, Inc. P.O. Box 14498 Des Moines, IA 50306	Contract between the Owner and the Contractor as indi	icated above, the
on bond of		, SURETY,
(Insert name and address of Contractor) L J Construction Inc. 11226 Dobson Rd Gulfport, MS 39503		
(Insert name and address of Owner) City of Diamondhead	he Contractor, and agrees that final payment to the Con-	, CONTRACTOR, tractor shall not relieve the Surety
5000 Diamondhead Circle Diamondhead, MS 39525		
as set forth in said Surety's bond.		, OWNER,
N WITNESS WHEREOF, the Surety has Insert in writing the month followed by th	s hereunto set its hand on this date: February 21st, 20 in numeric date and year.)	025
Artest: Dubbre Du	Merchants National E (Surety) (Signature of authorize Lisa R. Butler, Attor (Printed name and title)	Bulling de representative)
	U	



Know All Persons By These Presents, that MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., both being corporations of the State of Iowa, d/b/a Merchants National Indemnity Company (in California only) (herein collectively called the

Charlotte Ramsey; Chris Boone; David R Fortenberry; Debbie Dunaway; Dewey B Mason; James Eley Brashier; Jennifer Roberts; Julie C Livingston; Kathleen Scarborough; Kimberly B Barhum; Lessie Ryan Anderson; Lisa R Butler; Mary J Norval; Patrick Thomas Mason; Sharon L Tuten; Susan Skrmetta; Troy P Wagener

their true and lawful Attorney(s)-in-Fact, to sign its name as surety(ies) and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions

This Power-of-Attorney is granted and is signed and sealed by facsimile under and by authority of the following By-Laws adopted by the Board of Directors of Merchants Bonding Company (Mutual) on April 23, 2011 and amended August 14, 2015 and adopted by the Board of Directors of

"The President, Secretary, Treasurer, or any Assistant Treasurer or any Assistant Secretary or any Vice President shall have power and authority to appoint Attorneys-in-Fact, and to authorize them to execute on behalf of the Company, and attach the seal of the Company thereto, bonds and undertakings, recognizances, contracts of indemnity and other writings obligatory in the nature thereof."

"The signature of any authorized officer and the seal of the Company may be affixed by facsimile or electronic transmission to any Power of Attorney or Certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually fixed."

In connection with obligations in favor of the Florida Department of Transportation only, it is agreed that the power and aut hority, hereby given to the Attorney-in-Fact includes any and all consents for the release of retained percentages and/or final estimates on engineering and construction contracts required by the State of Florida Department of Transportation. It is fully understood that consenting to the State of Florida Department of Transportation making payment of the final estimate to the Contractor and/or its assignee, shall not relieve this surety company of any of

In connection with obligations in favor of the Kentucky Department of Highways only, it is agreed that the power and authority hereby given to the Attorney-in-Fact cannot be modified or revoked unless prior written personal notice of such intent has been given to the Commissioner-Department of Highways of the Commonwealth of Kentucky at least thirty (30) days prior to the modification or revocation. In Witness Whereof, the Companies have caused this instrument to be signed and sealed this 3rd day of February



MERCHANTS BONDING COMPANY (MUTUAL) MERCHANTS NATIONAL BONDING, INC. d/b/a MERCHANTS NATIONAL INDEMNITY COMPANY

2024

On this 3rd day of February 2024, before me appeared Larry Taylor, to me personally known, who being by me duly swom did say that he is President of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC.; and that the seals affixed to the foregoing instrument are the Corporate Seals of the Companies; and that the said instrument was signed and sealed in behalf of the Companies by authority of their respective Boards of Directors.

В٧



Penni Miller

Commission Number 787952 My Commission Expires January 20, 2027

(Expiration of notary's commission does not invalidate this instrument)

I, William Warner, Jr., Secretary of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., do hereby t, will all warrier, and Secretary of MERIODAN'TS BONDING COMEANT (MICHOEVER) and MERIODANE CONTROL OF MICHOEVER, INC., OF TELECOPY Certify that the above and foregoing is a true and correct copy of the POWER-OF-ATTORNEY executed by said Companies, which is still in full force and effect and has not been amended or revoked.

In Witness Whereof, I have hereunto set my hand and affixed the seal of the Companies on this 21st day of February . 2025



William Clarener J.

POA 0018 (1/24)

STATE OF IOWA



Contractor's Affidavit of Release of Liens

PROJ	ECT: (Name and address)	ADOLUTEOTIC		
TU	mberry Drainage	ARCHITECT'S PRO- NUMBER:	ECT	OWNER:
	Project	TOTAL PLAN		ARCHITECT:
	110,000	CONTRACT FOR: Ge	neral	CONTRACTOR:
TO OV	VNER: (Name and address)	Construction		
Cit	y of Diamand head	CONTRACT DATED:	7/3/124	SURETY:
50	00 Diamond head C	rcle	10.10	OTHER:
D	. en, bash bramai	39525		
	OF: YVV5			
COUN	TY OF: Harrison			
of mat	ndersigned hereby certifies that to a below, the Releases or Waivers of erials and equipment, and all perforbrances or the right to assert liens of performance of the Contract reference.	rmers of Work, labor rencumbrances again	or services who bear	Subcontractors, all suppliers
EXCEP	TIONS:			
SUPPO 1.	ORTING DOCUMENTS ATTACE Contractor's Release or Waiver conditional upon receipt of final	of Liens,	CONTRACTOR: (Name	
2.	Separate Releases or Waivers of Subcontractors and material and suppliers, to the extent required laccompanied by a list thereof.	equipment	BY: Guffording representation	re of authorized
	MIS.	Sister.	Notary Public: My Commission Expire	to before me on this date: 2/20/35 es: 03/38/37

User Notes:

1

	The state of the s
The state of the s	
4	
1	



Contractor's Affidavit of Payment of Debts and Claims

	and a summarity of the supplied of Doi	oto and Olamis
	ECT: (Name and address) ARCHITECT'S PROJECT	T NUMBER: OWNER:
Turi	nberry Drainage	ARCHITECT:□
	CONTRACT FOR: Gene	ral Construction CONTRACTOR:
		1/31/24 SURETY: -
50	y of Diamond head. OD Diamond head Circle	OTHER:
70	0 2000 000 000 000 000 000 000 000 000	
	OF: 175	
	YOF: Harrison	
	Total House (130)	
The un	dersigned hereby certifies that, except as listed below,	payment has been made in full and all obligations be
OTHER W	ise occir satisfied for all materials and equipment furnish	hed for all work labor and corriege performed and for
an kno	wil indebtedness and claims against the Contractor for	damages arising in any manner in connection with the
periorn	nance of the Contract referenced above for which the C	wner or Owner's property might in any way be held
respons	sible or encumbered.	100 mm m
EXCEP	TIONS:	
	ORTING DOCUMENTS ATTACHED HERETO:	CONTRACTOR: (Name and address)
1.	Consent of Surety to Final Payment. Whenever Surety is involved, Consent of Surety is	LJ Construction Inc
	required. AIA Document G707, Consent of	11226 Dobson Road
	Surety, may be used for this purpose	Gulfport, ms. 39503
Indicate	e Attachment Yes No	Cult bor 4' 1112. 21.20.2
	\(\frac{1}{2}\)	pv 0 0
The foll	lousing companies de constitut de la 111	BY: Jones James
hereto i	owing supporting documents should be attached if required by the Owner:	(Signature of authorized representative)
	, equil on by the Owner.	Louis J. Smith- Presu
1.	Contractor's Release or Waiver of Liens,	(Printed name and title)
	conditional upon receipt of final payment.	(1 rinea name and tate)
_		
2.	Separate Releases or Waivers of Liens from	Subscribed and sworn to before me on this date:
	Subcontractors and material and equipment	3/30/35
	suppliers, to the extent required by the Owner, accompanied by a list thereof.	
	accompanied by a list diereof.	Notary Public: Charung Smurs
3.	Contractor's Affidavit of Release of Liens (AIA	My Commission Expires:
	Document G706A).	11. COMMISSION EXPIRES. 09/98/3J
	12 MS 12 2	1 1
	S MILONIS OF	

(1667782739)

CONTRACTOR'S AFFIDAVIT OF PAYMENT OF DEBTS AND CLAIMS AND WAIVER OF LIENS

TO: (Owner) City of Diamondhead	ENCINEEDIS DO 1505
	ENGINEER'S PROJECT NO. #
5000 Diamond head Circle	CONTRACT FOR: Entire Project
Diamondhead, Ms. 39525	CONTRACT DATE: 7/31/24
PROJECT:	
Turnberry Drainage Project	
State of: Mississippi	
County of: Harrison	
The undersigned, pursuant to Article 14 of the General Conditions, hereby certifies that,	
he has paid in full or has otherwise satisfied all obligations for all materials and equipment furnished, for all work, labor, and services performed, and for all known indebtedness and claims against the Contractor for damages	
arising in any manner in connection with the performance of the Contract referenced above for which the Owner	
or his property might be held responsible.	
CONTRACTOR: LJ Construction Frc	
(Address) 11226 Dobson Road	
Gulfport, Ms. 39503	
BY: Joins J Smul	
Subscribed and sworn to before me this	O day of Feb 2035
NY PUB	
0.0	
Notary Public	Thorsite Smith
CHASITY SMITH CHASITY SMITH Commission Expires: My Commission Expires: 02/28/27	
Commission Expires My Commission Exp	00/08/9/



CONTRACTOR'S WARRANTY

To Owner: City of Diamondhead

Project Name: Turnberry Drainage Project

The contractor signatory below, LJ Construction Inc ("Contractor") hereby guarantees the City of Diamondhead("Owner") that the construction performed on the Turnberry Drainage project to be free from defects in material and workmanship for a period of one year from the date of substantial completion (01/15/25).

This standard limited warranty applies and is limited as follows:

- 1. To the construction work that has not been subjected to accident, misuse or abuse.
- 2. To the construction work that had not been modified, altered, defaced or had repairs made or attempted by others.
- 3. That the contractor be immediately notified in writing within ten (10) days of becoming aware of defect by owner or his agent.
- 4. Under no circumstances shall the contractor be liable by virtue of this warranty or otherwise damage to any person or property whatsoever for any special, indirect, secondary or consequential damages of any nature however arising out of the use or inability to use because of the construction defect.

Subscribed and sworn to before me on this date: 2/20/25